07 01 27

G )

5,972

5,972 | o | o | 0

0

R4 76

R8

76

0000628230




R04 |R05 [R06 [RO7 [RO8

A02-001 1 L=1,750m u 15
A02-002 -4.5m  L=440m L I B B BN 438
A02-003 -5.5m  L=360m [ I B 135
A02-004 1 L=27m u 98
A02-005 -13m -10m N=1 LI B 24
A02-006 -10.0m L=370m LI B 18

0000628230




R04 |R05 [R06 [RO7 [RO8

A02-007 -4.5m -5.5m -6.5m [ ] 15
N=1

A02-008 -2.0 V= | B B 498
38,000m3

A02-009 -7.5m V=38,000m | B B 489
3

A02-010 L=235m | B B 441

A02-011 N=1 [ [ [ [ [ 450

A02-012 1 2 + Om L=857m [ ] 21

0000628230




R04 |R05 [R06 [RO7 [RO8

A02-013 2.0 L=229m . 21
A02-014 L=6,527m | | | ] 36 | |
A02-015 3.0n N=L - 36
A02-016 _5.5m V=30,000m3 R I R R 300
A02-017 -3.0m L=190m R I R R 78
A02-018 3.0 V=24,800m3 R I R R 195
A02-019 _5.5m V=50,000m3 . 498

0000628230




R04 |R05 [R06 [RO7 [RO8

A02-020 -7.5  V=55,000 3 m | m . 498

A02-021 -4.5  V=17,000 3 . 171

A02-022 (-5.5m)(2) V=50,000 . 450
3

A02-023 4 B L=60 - 60

A02-024 5 -5.5  L=90 - 90

A02-025 75 ¢ 130 m | m . 60

0000628230




R04 |R05 [R06 [RO7 [RO8

£02-026 7.5 36,0 e 300
0 3
A02-027 0.5 e 150
100
A02-028 L=83n e 336
£02-029 A=0.95ha e 51
[ L[] s.o2) |
| 1] sz |

0000628230




RO4 RO5
@ 397 562

(b) 0 0

(c=a+h) 397 562
(@ 73 176

®) 294 547

) 176 191

@ 127 163

(h = c+d-e-f) 0 0
(i = (g+h)/(c+d)) 27.02 22.08
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